I. Task №1. 

Vocabulary 

Match the words and phrases with the definitions. (Соотнесите слова или фразы  с определениями от  А – N) 

1. commodity
A when the government sets a limit on how much people can buy of something

2. standard
B when there is not enough of something

3. socialist
C a strong metal made from iron
4. industry
D something you can buy or sell
5. steel
E what is usual or typical

6. indicate
F all the businesses and companies involved in the production of heavy goods, food, technology, etc

7. warning system
G describes someone / something aiming to share wealth equally

8. shortage
H secretly storing and hiding goods for use later
9. rapidly
I work
10. ration
J show
11. solution
K very quickly
12. hoard
L money paid regularly for work done
13. operate
M answer to a problem

14. wages
N a system which tells us that something bad is going to happen
II. Task №2. 

Read and translate the text in written form. (Прочтите и переведите текст в письменной форме)

The planned economy.
In many ways, the planned economy is the direct opposite of the market economy. In the market economy, the forces of supply and demand decide everything: what is produced, how much is produced, the methods of production and the price. In the planned economy, all of this is decided by the government. In every way that the market economy is free, the planned economy is controlled.

Unfortunately, no economic system is perfect. If there was a perfect system, economists wouldn't have anything to argue about! Market economies have their strengths, but they have their problems, too. Planned economies try to provide solutions to these problems. For example, the free market supplies the things that people want. However, what people want and what they need are not always the same: Fast food is always in demand, but it's bad for us. In a planned economy, the government could decide to stop fast food restaurants operating in the market.

A second problem with free markets is that producers always want the highest price. Often the poor can't afford things. In a planned economy, the government sets prices. They make sure that everyone can afford basic commodities. This is one way that planned economies try to share things equally. Another is to control how much people get paid.
In a planned economy, workers' wages depend on the service they provide to society. If people can live without their service, you get paid less. This is very different from the free market. In the free market, someone's salary mostly depends on the demand for his or her work. If people like what you do, you get paid more.

Before 1900, there were few examples of planned economies. During the 20th century, however, the planned economy became the standard for socialist governments like the USSR and China. These countries experienced amazing economic growth in a very short time. In a market economy, it takes a long time for big industries to grow from small companies. In a planned economy, however, huge industries can grow overnight. The government simply decides to spend money on factories and factories appear. Britain, for example, took centuries to develop her steel industry in a free market economy. China developed hers in a few decades.

But, as we said, no economic system is perfect. The planned economy has many drawbacks. One of these drawbacks is problems with supply. It is difficult for governments of planned economies to know exactly how much to produce to meet demand. In a market economy, when the price of a commodity rises, this indicates a rise in demand. Companies then supply more to the market. This warning system doesn't work in a planned economy because price is controlled by the government. The result is shortages.
When shortages happen, governments can do two things: ration goods or raise prices. In this situation, people then start to hoard things, and the problem gets even worse. As the population gets bigger, shortages like this become more common. For this reason, China - once the world's biggest planned economy - is rapidly moving towards another system: the mixed economy.
III. Task №3. 

Comprehension

Now read the text again and decide whether these statements are true or false. ( Прочтите текст снова и решите, какие утверждения верны или неверны)  Т - верно, F - неверно.

1. In a planned economy, the government decides how products are made.

2. In a planned economy, suppliers can sell anything that is in demand.

3. In a planned economy, a doctor should get paid more than a footballer.
4. Planned economies grow more slowly than market economies.
5. In a market economy, greater demand for something makes it cheaper.

6. Planned economies are difficult to run in countries with large populations.
IV. Task №4.
Упр.1. Переведите на русский язык, обращая внимание на причастие Present Participle Passive
1. The question being discussed now is very important.
2. He doesn't know the song being heard.
3. The house being built in our street is a new supermarket.
4. Do you like the film being discussed?
5. Being asked at the lesson, the boy answered nothing.
6. The experiment being carried on by this scientist is
very important.
7. Being packed in the beautiful box the flowers looked
very lovely.
Упр.2. Переведите на русский язык, обращая внимание на Perfect Participle.

1. Having lost his address, I couldn't write to him.
2. Having traveled about the Europe for two months, he returned home.
3. She went home, having finished her work.
4. Having shaken hands with them, we continued our way.
5. Having collected all the necessary materials, he began writing the report.
6. Having made the report, Tom left the room.
7. Having answered all the question, she began retelling the text.
Упр.3. Раскройте скобки, употребляя  Present Participle или  Perfect Participle.
1. (to write) out all the new words, I started to learn them.
2. (to live) in Kyiv, he was able to see all the ancient monuments.
3. (to hear) my friend's voice, I left the room to open the door.
4. We went home, (to look) through the documents.
5. (to drink) coffee she was talking to her friend.
6. (to go) down the street, the boy was looking back from
time to time.
7. (to throw) the ball, the little girl ran home.
8. I think that the man (to stand) there is her father.
9. (to buy) food, they left supermarket.
10. (to know) French well the pupil can translate this text.
11. She entered the room (to smile).
12. (to see) the stranger the dog began barking.
13. (to bark) dog doesn't bite.
14. (to find) the keys, we were able to open the door.
Упр.4. Раскройте скобки, употребляя нужную форму инфинитива.
1. I am glad (to work) with you.
2. I am glad (to work) with you now.
3. I am glad (to work) with you since morning.
4. We wanted (to recognize) by them at once.
5. She always wants (to talk) about him.
6. He pretended (to sleep) and (not to hear) the telephone ring.
7. They are lucky (to see) so many countries.
8. My younger sister doesn't like (to treat) like a child.
9. Ann seems (to discuss) a very important problem now.
10. This actor doesn't like (to interview) by the reporters.

11. The child didn't want (to forbid) to go for a walk.
12. The teacher wants (to tell) if the student can't attend a lecture.
13. He seemed (not to understand) what I told him.
14. She hates (to wear) a suit.
15. The policeman told him (not to drive) so fast.
